eco
PASS

PORT. - hager

Product Environmental Profile

Origin insert for combination USB charging socket type A-C 18W PD with
socket type 13, black

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Provide one USB C connection type A-C charging point PD module 18W with socket type 13, according to the
WH45821305A appropriate use scenario, and for the reference service life of the product of 10 years.

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.10 Socket product.

PEP ecopassport 1/5 HAGE-01429-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
g % [¢] % [¢] %

PC 12.91 11.1% Ferrites 9.96 8.6% Cardboard 13.78 11.9%

PA6 10.04 8.7% Copper 10.61 9.1% Paper 7.88 6.8%

Epoxy resin 4.38 3.8% Steel 1.44 1.2% Glass fiber 6.26 5.4%

Silicon rubber 4.05 3.5% Stainless steel 1.19 1.0% Formaldehyde 5.41 4.7%

PET 1.54 1.3% Tin 0.96 0.8% Urea 5.41 4.7%

Other 1.99 1.7% Other 3.55 3.1% Other 14.68 12.6%
:::(Iazs‘zs:of reference product with raw material 116.04 g
Total mass of reference product 110.06 ¢

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D

=)

c
. © 0

B
2 2 o 2 O 2
c 2 = c o) [T o]
o 15} c c -] 5 = = S o
5 (] kel o ° 9 5 =1 7] 5 w &
8o 5 o o ® c® S& - 2 o o c € £3 ® 3
S < c c Lo 5 = oS Q c c =) 25 e Q2 o a

S5 s s [} [} = o S = k) 2 2 — o

X = c © c S o1 =31 = £ » ©
173 =1 Q c Q c - o 3 = = © £
o3 13 2 So SO S £ s 5 £ 3 £® 2% 5 55 g > g 2 E
g3 2 8 2% T6 g9 5] & o S 290 o2 ] 32 ] S & 7

= = 2 = = @ = = o pa 7} w = > &

Qa8 2 =] @ © T c o = 7] S5 5 = 35 c o 3 2] @o o>
< ) c =3 o) ) T o 4] = 2 £ 2 = 3 s} =l
S o = 5] 2 @ 2] 5 2 ° o) 3 @ oo [} Sz c 5 o
E5| % = 83 £a 0o = « = =& [ a -8 3 © 22
z © 2 o © 8o 3 5 s Eg a3
T @ < < =1 = 2 o T o c
o c = = 0C> © £ (S o
o [im} = =2 2
= 7] o

=

k]

B3 B4

Life cycle stages

Manufacturing Distribution

These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including packaging,
to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment is taken account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0.2304 30.0% 0 70.0% 0 0.0% 0 0.0% 0 100.0%

This corresponds to a total energy consumption of 12.11 kWh for the use span of 20 years.

Energy model of the use phase :
Europe

Consumables and mai 1ance :

None

PEP ecopassport 2/5 HAGE-01429-V01.01-EN



Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 23%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.3.1-2 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A5 C1-C4
Europe Europe Europe Europe

tal impact indicat

R
Envir

. . Manufacturing Distribution Installation Use End Of Life

Indicators Unit A1-A3 A4 A5 | B1-B7 | c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 6.90E-03 2.85E-05 6.59E-05 2.56E-02 5.19E-04 3.31E-02 -2.90E-03
Climate change - Total (PEF-GWP) kg CO2 eq. 9.01E-01 1.81E-02 5.21E-02 4.89E+00 1.89E-01 6.06E+00 -5.71E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -1.37E-02 7.39E-08 3.13E-02 1.08E-01 1.49E-02 1.41E-01 -7.45E-04
Climate change-Fossil (PEF-GWP¥) kg CO2 eq. 9.15E-01 1.81E-02 2.08E-02 4.79E+00 1.74E-01 5.91E+00 -5.63E-02
Climate change-Land use and land use change K

g CO2 eq. 2.19E-05 2.73E-08 1.55E-10 0.00E+00 7.20E-10 2.19E-05 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 3.17E+02 5.27E-01 2.94E-01 7.34E+00 3.38E+00 3.29E+02 -7.29E-01
EF-particulate Matter (PEF-PM) eceneet 4.55E-08 2.45E-10 3.86E-10 2.01E-07 2.76E-09 2.50E-07 -6.91E-09
Eutrophication, freshwater (PEF-Epf) kg P eq. 1.61E-05 6.74E-08 2.88E-07 1.17E-05 1.33E-06 2.95E-05 -2.85E-04
Eutrophication, marine (PEF-Epm) kg N eq. 6.87E-04 5.17E-06 2.70E-05 3.00E-03 2.57E-04 3.97E-03 -1.37E-04
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 7.89E-03 5.67E-05 1.98E-04 4.81E-02 8.58E-04 5.71E-02 -1.75E-03
Human toxicity, cancer (PEF-CTUh-c) CTUh 2.29E-08 3.54E-12 2.30E-09 6.05E-10 2.83E-08 5.42E-08 -4.15E-10
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 4.75E-08 6.74E-11 6.36E-11 1.43E-08 5.90E-09 6.79E-08 -3.34E-08
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 1.15E+00 6.39E-04 2.99E-03 6.40E+00 4.74E-03 7.56E+00 -8.82E-04
Land use (PEF-LU) No dimension 5.60E-01 7.72E-05 6.92E-05 1.30E-01 1.00E-01 7.90E-01 -2.25E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.44E-07 2.19E-10 3.06E-10 2.10E-08 4.92E-09 1.71E-07 -1.92E-09
f;g;‘f;"g&”;c)a' ozone formation - human health |+ ¢ N\MVOC eq. 2.57E-03 1.83E-05 4.51E-05 9.51E-03 2.28E-04 1.24E-02 _5.07E-04
Resource use, fossils (PEF-ADPf) MJ 1.81E+01 3.20E-01 2.15E-01 1.17E+02 7.06E-01 1.37E+02 -3.49E-01
A I SIS 2.83E-04 6.44E-09 1.10E-09 1.59E-06 1.84E-07 2.85E-04 -8.36E-06
(PEF-ADPe)
Water use (PEF-WU) 5.73E-01 6.50E-04 1.81E-03 3.71E-01 8.27E+00 9.22E+00 -2.55E+01
Resource use indicators
. Manufacturing Distribution Installation Use End Of Life

Indicators A1A3 A4 | A5 | B1-B7 | c1-Ca | GLOBAL | Module D
Net use of fresh water 1.34E-02 1.51E-05 1.39E-04 8.67E-03 2.27E-01 2.49E-01 -6.00E-01
Total primary energy 2.02E+01 3.21E-01 2.44E-01 1.45E+02 7.60E-01 1.66E+02 -7.01E-01
Total non renewable primary energy 1.81E+01 3.20E-01 2.15E-01 1.17E+02 7.06E-01 1.37E+02 -3.49E-01
Total renewable primary energy 2.06E+00 1.01E-03 2.89E-02 2.75E+01 5.40E-02 2.96E+01 -3.52E-01
Non renewable primary energy used as energy 1.64E+01 3.20E-01 2.15E-01 1.17E+02 7.06E-01 1.35E+02 -3.49E-01
O ARG PIMAR CASIAVISECES (R 1.73E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.73E+00 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 1.58E+00 1.01E-03 2.89E-02 2.75E+01 5.40E-02 2.91E+01 -3.52E-01
Renewable primary energy used as raw material 4.83E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.83E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/5 HAGE-01429-V01.01-EN



Waste category indicators

Manufacturing Distribution

A1-A3 A4 GEOBAL

Indicators

Installation End Of Life
A5 B1-B7 C1-C4

3.31E+00 7.55E-05 1.17E-03 1.35E-01 4.34E-02 3.48E+00
Non hazardous waste disposed 2.35E-01 1.67E-03 6.02E-03 7.38E-01 1.06E-03 9.82E-01
Radioactive waste disposed 1.24E-04 1.33E-06 1.37E-06 1.74E-04 4.54E-07 3.01E-04

0.00E+00
0.00E+00
0.00E+00

Hazardous waste disposed

Output flow indicators

Manufacturing Distribution
A1-A3 A4

GLOBAL

q Installation End Of Life
Indicators

A5 B1-B7 C1-C4

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 1.26E-03 0.00E+00 1.72E-03 0.00E+00 0.00E+00 2.98E-03 0.00E+00
Materials for recycling 4.27E-03 0.00E+00 1.57E-02 0.00E+00 0.00E+00 2.00E-02 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
1.38E-02 7.96E-03 2.75E-03 2.45E-02
Biogenic carbon content (declared unit) 3.86E-03 3.01E-03 1.09E-03 7.95E-03
Biogenic carbon content (functional unit) 3.86E-03 3.01E-03 1.09E-03 7.95E-03

ADEME APESA/RECORD EN 16485

Prod dboard T .

a 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon content (declared 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon conte ona 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

PEP-PCR-ed4-2021 09 06
PSR-0005-ed3.1-2023 12 08

Information and reference documents: www.pep-ecopassport.org

Drafting Rules
Registration N°: HAGE-01429-V01.01-EN

Supplemented by

Verifier accreditation N°:  VH65
Date of issue: 11-2025

Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01429-V01.01-EN



Appendix

[CTUR]

ary energy used as energy - [MJ]
nary energy used as energy - [MJ]

Components for re-use - [kg]
Exported energy - [MJ]
Hazardous waste disposed - [kg]
Land use (PEF-LU)

Materials for energy recovery - [kg]
Materials for recycling - [kg]

Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, fossils (PEF-ADPf) - [MJ]
Resource use, minerals and metals
(PEF-ADPe) - [kg Sb eq]

Total primary energy - [MJ]

Total renewable primary energy - [MJ]
Use of renewable secondary fuels - [MJ]

Use of secondary material
Water use (PEF-WU) - [m3 eq.]

Acidification (PEF-AP) - [mole H+ eq.]
Total non renewable primary energy - [MJ]

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Use of non renewable secondary fuels - [MJ]

Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Human toxicity, cancer (PEF-CTUh-c) -

Climate change-Fossil (PEF-GWPY) - [kg CO2 eq.]

sing radiation, human health (PEF-IR) - [kg Bq U235 eq ]
Renewable pri

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Renewable primary energy used as raw material - [MJ]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Non renewable primary energy used as raw materi

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]

DM

S I PAR T csoccs| ooreon| areoe| sioeor| asseos| ooneo] sveas| roreos| asmeor| raseco| oooeoo| ssrcon| aamecs| arseon| viscao| seocor| raseon| azmews| rssece| aveor| rosor| irseoo| saseor| asseos| areos| raieos| rsmeon| asseor| vsor| aseoe] soreor| acomor| zoecoof ooeoo| omeco] aocco| smeor

= S

=

S IR O rcce| soocon| soncco| soncor| scacor| owoeco| smeor| aeaew| soreos| rveca| owoeeo| rrreio| sasece| rueer| ramcco| siseco| roseeo| sooewo| sece| saseor| ssocr| rsecao| soor| 7rees| soseca| ameos| ssocwo| sossor| rocar| aseeoe| srocar| rsscar| 2mewo| omc| oweao| sosew| ssmcr

©

8

5 WGLEPARIGINI  scceoo| eoscor| saeas| siscor] 2soeos| oooeao| roreoo] raseas| srieos| rioecs] oooeao| 2useoo| roseon| someos| rareoo] sazeor| viseos| ssweas| raeco] zsscor| rooor| veseoo| rsieor] amecs| zor] rareor] rosoo| soswor| rrsear| 2reos| 1rseor| 2osor| 2useoo| ocoean| oooeoo| oweco] saveor

c

[

s PGEEPAEONOR o ecs| riomoo| oamce] rvieao| 21oeos| ooomon] sameeo| roscos]| ssas| oseos] owenn] ssveao| roscor] woran| ramoo| ssocor] ssseco| rsoecs] rsce| sseor| romeor] 2soean| zoreor] cwon] saiecs| rsseor] 1rewo| sreor| 2mor]| 2oreod| 2zee| 2sseor| 2soo| osenn] ooocao| soneoo] sriear
VGEEEPAEDNOMN  7ocos| 1sreo| soceos| rseico| ssscos| oonewo| 10er| sszeon| saocos] suseos| oooeo| suseon| wessos| seseos| arsean| rosor| rsocos| sazeos| zucese| asor| ereor| 2seco| ssseor| saseon| swseos| zeseos| zerein| ssiwor] ameor| soseod| aroeor| zsseor| zereoo| ooveo| ooomco| oweo| aweon
WGLEPPPIN  ioncce| 1smeon| ssreos| vaseioo| sorcos| ooopco| vsseior| sacmos| ameos| nseos] aoomao| saseo| sseon| sameoo| 1ameo] rsscan| ruscos| aseas| smeco| smseor| ariewr| smeoo| ameor| ooseos| szeos| seceos] swoo| asscor| asscr| smeos| zmseon| scsor| sameioo] ococan| oooeco| osoeco| roreao
WGLEPPPIOR  rocce| 2| arcos] 2iacao| soreos| oweoo| rsmor| azscos| voseas| ssseo| omeon| smseao| riwor| someon| raseco| vsseoo| sorecs| rzsews| sosoe| someor| srieor| arocan| smeor| soreon| suuees| sweos| zsscio| ssseor| ssreor| suaeos| serwor] smmeor| sseoo| oomeon| acocao| oooeoo| 1seean
WGEEPPENEO  ssieos| rseoo| smecs] roscao| 2omeos| oweon| saveer| 2oscos] soreas| ooeoe| owoeon| sosea| roocor| woseon| razeor| roreor] vareas| rsueos] avece| soseor| 2oeor] 2socan| suseor| wreoe| sarees| zroeor] rsscun| sseor| oreor| soneos| 2steor| zssear| zasoo| oomeon] ococan| sooeoo| srvean

c<

o ot RGO oscos| rsicce| rsseos| vovcor| aron| ooeeo| saror| ormeas| sireos| soros] ooveao| rsseos| sseref sren| sses] srzeos| oooeoo| osomoo| sreos| roreos) sear| ooveoo| zro] ssero| rsseos] rseos| roreos| oweon| saueor| euson] saear| szeor| rowees| oooeao| oooeoo| osoeco| ssoed

=

=]

2 WGEEEEOOR socoe| 2oece] rooeor] 2stece] sroeos| ooomon| rsneor| osseos| rveos| reseos| owen] roseas] ssoeie] ssen| ssseod] roos] oooeo| oonewo] 2veos| 2sceos| suseor]| oooean| soweio] sseio] ssieos| rsiwos| raas| oomoo] suseor] saseos| csneor] suseor] vuseos| osmenn] oooeoof soveo] soreas

=

% WGLEPARITINN  :ovcos| reocor| ormeon| soocoa| ssocon| ooomco| smscor| smeon| aracos| socos| aoomco| ssoeos| saseraf ssmeni| socos| roseos| oooeo| omron| 1meos| tsicos| sssor| ooomoo| zotero] aasero| tescos| razeos| oameos| omeo| saseor| ssocos| ssseor| seseor| szreos] ococan| oooeco| osoeuo| sosea
WGLEPAEOOME orcos| 2vewe| amcos| aeca| ssseon| oweon| soreor| msscos| orseon| raseos| omeon| osteos| sosere| sasenr| ssmeos| somos| aoocco| ooneo| roseos| aeco| szeor| owocan| zereio| szero| aereos| tracos| sssos| oomoo| srreor| ssseos| szeor] samor| smeos| omeon| aoocao| oooeo| sseas
WGLEPAEIOM  socos| 2iseee| ssoncs) 2tsece| szseos| owoeon| sareor| acocos| sceon| oroeos| osmon| sssees| szvere] soeri| rereos| saeos] aooeao| ooneoo| raveos| omecs| sszeor| ovocan| zereio] zsiero| sseos| rsscos| raoeas| oooeoo| ssaor| reres| smeor| saeor| raveos| oomeon| aooeao| oooeoo| rreas
WGLEPPPIIN osscos| 2iocce] soseas| 21smc] ssieon| oooeao| esscor| sios| saeos| sece] oooeao| srseos] szsref srrent| rreos] soseos| oooeoo| owmon| sseos| zosees| sear| oovoo| 2esero] 2onero| 222e0s| roreos| 1zzeos| ooeon] saseor| rsomoo| ssseor| ssveor| 12260s] ocoeso| oooeco| omoeco| 7sread
WGLEPP PO cocos| 2osece| riocor] 2oseco| soreon| oweon| raieor| roosor] rreos| seseos| owenn| rmod] sareie] rovero| oseor] riseor] oooeao| ooneoo| sasos| suseos| armeor] oooean| saero] sewio] areos| roscos| vsoeas| oomoo| areor] osseco| armeor] areor| sveos| oueon] ooocao| oooeoo| sesean
WGEEPZENEIOR s eoe| 1smece] wiocon] sosece] soreon| owoman| ssreor| raseos| srneos| emeos| owen] sseas| soreie] rsen| roseod] asseos] oooeo| ooneo] roros] vsseoo| ssicor] oooean| 2eeio] areio] scweos| rareos| vieas| oooo] ssswor] ruress| ssueor] ssseor| rzeos| oseon] oooeo| soveo] ran

c

[ NG PAR T esocos| soveea| sioco| soon| vssero| ooneeo| ssseor| ameor| socos| ssmeos| omeo| rireas| awece| wsee| sosees| osmeos| wrean| ssrees| 1oscos] comen| asseor] omeoo| somerof sseo| aseos| ssveos| amcos| ooocao| aiseor| riomon| asseor| aescor] sssecs| oomeco| omeco| woocco| rereos

o

=< WGLELEEOM  coos| ssmeer| vorece| sareca| sssen| oweoo| srmeor| vrocor] veseos| soreos| omeon| riveos| raocos| smen| seos| saaos| soses| sseos| wsoeos| soreoo| vaveor| ovocan| ssseio| sssero| arseos| wascor] sreson| ooeoo| soreor| semero| rsveor| raseor| roeos| omeon| acocao| oooeo| rras

2 82110

2 WGEEPARIGINN  orscos| ssccor| soseae| 2ismo| rssero| oooeao| swocor| sssar| amseos| zomos] wooeao| rioeos| asseos| ssseri| soseos| roreas| iroeo| rooeoe| rszeos| wrseos| aeor| oooeoo| sito] sssero| ssveos| raceoe| 2oseor| oomeon| zameon| vrzeoo| zzeon| zeseor| zsseor] ocoeao| oooeco| owoeco| 1sseas
WGEEPAEONOR  sseos| szreee] sisccr] soneco| rsseo] oweon| 2sieor| 2oseor] ameos| oscos] oweon] ivess| zsocos| sser| omees| easos] srzeco| rsree] rsor] oomeos| 2wseor] oooean| sweio] sssero] sreos| rsros| sssece] ooveoo| 2iseor] ssceco| 2useor 2soece| oooeao| oooeo] osoeco] 1stecs
VGEEPAEINOR ooece| 2ece] rosece] sateas| smen] ooeon] sseor| roreor] vroeos| srieos| owen] sueor] o] smen| sees] sossos] roreod] ssuen] creos] someco| ssorce] oooean| rssero] rrern] ismeos| eoseor] raece] oomeo] ssoece] amero| ssoece] romor| ameco] osen] oooeo| soveo] szean
WWGEELPPPINN  soseos| soseaa| siscco| z1ome| sserof owomoo| zoreor| zoneor| arzeos| soveos| oseoo| viseos| zsecs| sasen| soaees| sweos| 1mecs| rsocca| vercos| someos| 2veor| ooewo| soserof ssmero| essecs| rsscos| zezeor| oooman| 2vreor| rvieoo| arreor| sseor| 2occa) oomeo| oooeco| oooco| rsos
WGLEPPPIIORM  sosos| soseor| siocce| avoeca| 1soeo| oweon| soreor| asveor| arasos| aooeos| omeoo| vmews| ameos| saserr| someos| ssecos| srsec| rsseo] raveos| omeoo| avreor| ococan| sweo| ssoero| asseos| racos| sosmon| ooomoo| aior| sstees| avreor| suseor| 2smes| omen| ooocao| oooeoo| raas
WGLEPPENEOM  cocos| 2oseer| rasece| ssseas| omen| oweoo| ssseor| viscor] voseos| reseos| omeon| aereos| szro| aser| mews| ameos| soreos| osew| sseos| seos| acacor| ovocan| smsero| rssero| vsreos| swcor] vesoe| oooo| ssace| asmero| seoeoe| srmece| tsoeoe| oomeon| acoca| oooeoo| raseas

o~ "

o BRIGEEPARNIN cocel o] suco| inew| ncel swen| rsew| | swsn| sea| soe| ol eeof ool | vweol| onew| oncel comn| ime| wee| osen| sueo| wer| ssew| wen| ol comw| vvew| | wveal vesw| sreol swea| soes| seso| e

0 ERGEEREEEOR ooocco] oooeco| ooneo] oooeao| oomeoo] omen] oooeao| ooueoo) osoman| coveoo] omenn] aoveao| oooeo] osocsuo| ooceco| ouneo] oooeo| ooneo] oooecn| o] osueo) acoean| coveoo] omeon| coveao| ooneo] osocsto| ooveo] oseco] oooeo| ooneo] acoman| coveoo| osmen] sooean| oooeo] ooman
WEEEPARTIN ccoe| 1sseor| 2oneon| 1smn] osomon] oooeao| 1sse| snmos| srees] rsoeor] ooeao| ssseor] roos| ssmeos| 1rser] sezeon| ooveo] osomin] 2sece] 2uen| siene| o] soseon] saseor| 2ssece] arear] rusor| omeon] swer] asoros| sreie] sereo] raseor]| oooean| oooeo] osoeco] roread
WGEEPAEIIOMN  oscce| ameco| roacor| arcof oomeoo| omeon| rassco| rireos| sooeos| asreoa| osoeoo| 1sseor| sosero] raseon| saomoo| 1s0cor] aoomo| oomeoo| wormes| rameor| ssree| ococan| ioeos| soreor| osteco| rraeos] arsein| ooomoo| irece] sssee| sireca raseice| asmor| omen| ocopan| oooeoo| ariean
WGLEPAEOM sxccr| rmeor| ssacor] wrscor| oomeoo| omeon| sescor| azscos| voseon| rseor| omeon| asteor| azoeos| saveon| asor| arieor] aoocco| oomeo| ssseoa| seseoo| azmes| ovocan| rereos| raseor| saseca| saieos| ssocior| ooomoo| szmece| srmeoe| asmea| szsea| sosor| omeon| oooco| oooeoo| sasean
WGLEPPPIN  soscoe| 1oseor| 2ceor| 1oseor| omomon| oooeao| 1eseor| soreos| ssseos| roreor] aooeao| swoeor| raseos| stseos| rszeor| zsseon| oooeoo| owomon| 1ssece| 1osmon] zovee| oooeco| scce] asmeor| zviece| sasor| oreor| oomeon| zorear| ssseos| zoreie| saea| srreor| owoean| oooeco| oweco| saseor
WGLEPP PR soece| roor| 2eco] roscan| oomeoo| omeon| rsswor| zoveos] sosens| oreor| oweon] soveor| rsseoo] sroeon| vazeor| 2eseor] oooeaof ooneoo] rssce| rsioo| 2srece] ocoran| asomos| wseor]| 2veco| ssseor] erewr| oovoo| 2erece] ssseos| 2stene] szecef creor| oomeon]| oooean| cooeoo| saseon
WGEEPPENEIO ooece| sucoo| 1a0cr] ssseao| oomeoo| omeon| sireoo| roveos| ssns| ssser] owenn] 1soeor| ereo] rovon| riswoo] rescor] oooeao| ooneoo] sosas| szzeor| 1sece] ocoman| 2sucos] 2zseor]| romeco| rowwor] sostior| oomoo] siece] srecs| sstene] rorece] sosor| osmenn] oooeao| coneoo] arsean

O <

ROl MAGIE T coco| meo| voca] ieo| rac) soeo| sl vsea| soeo| sl o] e sweof swen] o] o] omeo| ome] ool | o] soe| smeoo] srwon| smeo] assco] siocn| o] russo| sew| vessor| raeo] swecn] ooeae] o] ovecr| ware

= -

RN MRIGEELEENOM cocor| oseor| smece| aveor| rnoeos| omeon| suscco| sarcos| vaseor| ssmeos| omeon| arsews| rrscos| srseon| reseor| avieor] aoocao| oomeo| assecn| ameoo| saen| ococan| siscos| suscon| asseos| ssoeor] aseor| oooeoo| ameco| soneos| 2meo] asuen| ssmeor| omeon| ooocao| oooeo| sorens

o o

& WGEEPARITINN  ccscoo| vorcor| soseas| rascor| osmro| oooeco| sameoo| veson| sereos| aeos] aoomao| ssseoc| zseon| smeoo| ssseos] soseas| oooeoo| ommon| razmor| rzvees| sezsor| ooomoo| smeos| aosees| reocos] siseor| seseor| ooeoo| soaeor| zescor| sszeon| oameor| sescor| ooocan| oooeco| owoeco| sseao
WGEEPAEOOM o eor| 2oieor| sosece| soreor| roseos| oweon| sreoo| rsmeos| armess| srceos| oweon| suewo| zeocos| soseon| ssseos| roveor] aooeaof ooneoo| sosor| 2secs| 1oeoo] owocan| ezseos| ssreon| smeos| ssseor] sasene| ooveoo| roreco] 2sseor| soreoo] roseon| saieor| oomen] acocan| sooeoo| rromon
WGLEPAEOR sweor| 2meor| soocce] soneor| roseos| oweon| asseoo| roveos| soseos| ssseos| oweon| owene| ssseos| soseos| suseos| rovece] oooeao| ooneo] zvear| zecs| asseor] oooean| ssseos| soowon| 2mod] ssieor] ssene| oomoo| soseor]| 2szeor| ssseor] sseor| ssseor] oumeon] oooeao| oooeoo| rasean
WELEPPPUN ozeoo| 220c0| 1ose| 20oeor| srero] oooeoo| sesmo] somos| seomos| sieos] ooveao| erserc] soson| soreoo| sooncs] raseno| ooveoo] osomon| ssmeor| rsseos| sueor| oomoo| sweos] asecs| o] soar| ssecr] oweon| sueor| zeseor] sueor| ssieor| soseor] oooean| oooeoo] osoeco] ereead
WGEEP PP o] 2sseor| soece] 2on| 1zseo] oooeon] soreoo| roseos| roseas| srieos] owen] ramewe| soomos| sorean| rasecs] sssece] oooeao| ooneo] zsteor| csmeco| srueno] oooean| esseos] sroe] 2meos| rzveos| sorese] ooeo] vruecn] saseor| sueo] rz2ean| soiece] osmen] aoveaof ooveo] sssen
WGEEPPENEOM soor| 1omcor| sescce| soreor| sssero] omeoo| ssswoo| rsscos| zraeon| soseos| omeoo| asmewo| zoscos| soseon| srreos| wiseor] aoomo| ooneo| sseor| sereo| soneo) ovocan| eweos| asmon| asreos| toscos| sseoe| oooeco| ooeco] aoseor| soneo rcocon| ssvec| oomeo] aoocan| oooeo| soseon

5 WGLEPAEOTN 2oceco| s7iccr| 7aseon| soseon) omomon| oooeao| raseor| 2sseas| rareos] aeos] aooeao| ooneoo| areero| ssieoo| aszeos] 2asean| oooeoo| owomon| soceor| oseon| sssear| oooeco| -rsos| soreas| soreos] ocoman| sszeor| oomeoo| sasean| asoros| saeon| roreor| aszwor| ovoean| oooeco| owoeco| assear

=]

3 VLG - oeos| sreor| rowece] sateon| oomeoo| oweon| rsseor| saeos] 2otenn| ssreos]| owmon| oooeao| ssseoo) sazeon| rrer] srseor] aooeo| ooneo) -arecn| coveoo| saseon] ocoean| ireos| 2ssron| -rone| oooeoo) o] oooeco] -ssseco] sorecs| soseo] scoean| t1re0o] oumeon] oooea| oooeoo] 2reeca

= WGEEPAROETN tsscos| asseoa| -riocor| amee| ooomao| ocomoo] zasoo| -asoeor| -voreos| -vaseor| osoeoo| oooco| sauein| -tsseto) 2socos| 2seao| coocco| ommoo) sssco| soveao| orseaa| oomeoo| srseiof sseon| sroeos| oweo| asseor| oooman| arece| asscos| orseee| aseor| assor| oomeoo| oooeco| coocico| -1omon
WGEEPAEONOR 2oecs| sreee] ssoeos] 7zeco| ooveo] oomean] rsreor| 2oreos] vszeas| sszes] owen] ooomao| soseo] sooman| 1rzees] azreo] oooeo| ooneo] roseor| coroo| ez0eer] ocoman| 2oreoo] saseon] ssveos| ooneo] soar] oomoo] srveor] seseos| sz0em| ssor| saseor| osmeo] oooeao| soveo] 2eseen
WGLEPAEOR rscor| sescor| siocos] soseca| oomeo| owoeon| zrueco| sscos| asoeos| smeos| oseon| ooopao| tsiero] soserof sraeos| asreo] aoomao| oomen| raseor| vooeoo| zescor| oocan| areos| zoston| vzreos| oomeio| armeor| oooeoo| zesor] aseor| aeseor| ssoeor| arseor| omeon| ooocan| oooeo] soean
WGLEPPPIINI 2 vocos| swscor| 2sseon| smocon) omoron| oooeco| rsscos) -voseos| zieos| asoeos] avoeao| ooneo| rosess| rsmeoo| wameos] asocan| oooeo| omoran| ssrece| osewo) -voreon| oooeco| roseos| aeseas| amscos| ocosan| siseor| omeoo| -vsten| srscor| voreon| orseor| srseor| ooocan| oooeco| omoeco| aseao
WGLEPPPIOR cocor| 2sscer| soscos] 7sseca| ooneoo| owoeon| 1zseon| 2rscos| srasos| asocos| oseon| oomao| 2zseto 2steos| seseos| sszeco] aoocao| ooneoo) -torear| coveoo| asicor| ovocan| irseos| worcon| veseos| oooeco) saseor| ooneoo| ssieor| soseer| ssreor] soreor| szveor| oomeon| acocan| oooeoo] snaean
WGEEPPENEO 2oecs| 2sece| sascor] 7uece| ooneoo| oweon| rsueor| 2oveor] -vszeon| 1sce| oweon] oooeao| sosero] ssveon| rrreos| 2rseo] aooeo| ooneo] rosor| coeoo| srocor] ocoman| 2oseos| szeon| sameos| ooneoo| saseor| ooveoo| sieor] seseos| ssoeor| sozor| ssseor| oomeon] oooean| soveoo] 2ssmon

PEP ecopassport 5/5 HAGE-01429-V01.01-EN



